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Instructions to Candidates / Glcadia 2acn

(1)  There are 50 questions in the Test Booklet. | %)
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions. @)

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong. No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is (€)
given separately to you. For example :
Which State of India has the longest Sea

Coast ? '
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONON MO,

The true answer is "C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5)  Use blue/black inked ballpeint pen for )
filling responses in the OMR Answer 5)
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
material, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying | (7)
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page. [ (8)
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Candidate's Roll No. | Time: 1 Hours |
| Total Ques. : 50 |

I Total Marks : 50 |

oo e e el

Do not open the Question
Booklet until ask to do so.

2L UAYRASL 6 50 U2l B, U5 Uzrtrll
AR GuR A, B, C 214 D U4l 88 s 8.
us«{l WA o U sl sivani 2udan
8. a1 oL % Ualdl GuR a8,
Ydls Ua-l i GaR W 1(As) @ 8.
25 sl aY Rseu 15 sR g vl
LR ML 2. vilel wale HI2 S8 281 sUid
98l .

Gu udl HI2 2§dA Graél (OMR
SHEET) »udl 8.

Gur (A1 Gelgel WL BuuarL 8.
MtRad 54 A Al aiell sRa-Bu
q1d & 7

(A) MR (B) difie-ind

(C) AuUd (D) Mz

Guradl (OMR SHEET)Ai

ONOX NO),

Busd Ustell A1) Gur "C" B, wuell "Cy
ad® 519 (encode) 53¢ 8.

L uyRASL 59 % dviaid el
Grradldi Gul aleofl [ s19l w1l
olavl 2 Urefl viualti 8. 2=y wedl, U-
3 A[Ra-l Gudlal 53 and «dl.

udlan el G WA 5185 vel sy,
pds, walellst, studl, W, 2
sl 3 M2y alecy, Houdd siv,
Yorz, Jesyder & iy dlong Guswil slaid
Rl dl GRealRA SRE14s AR Biadl.
g udlan e isAvie Uy 5dl,
A sl § FMdasdl yauid Geden
529 o S0 aeud.

W54 Beal 4% U 9.

6xrad]l (OMR Answer sheet) & wasi 8. udlan ydl e oue Garadl (OMR Answer Sheet)-l uux
W{laL uat (Scaning Copy) adl Mlasw uxd sal sue o aslvis Blaaid 28, dx sl 532 2ol Rideial

ot 21efl ulan W3 % A G SRaius g v1ad. olle GAsar 1d (Candidate Copy) GHgdiR A1d
ad o8 s, uAYRASL i ol Ud GAedlR Wil A3 @S o wsdl.
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1 Where is "Environment Education Center" located established by Government

of India ?

(A) Ahmedabad and Chennai (B) Delhi and Jaipur
(C) Nagpur and Lucknow (D) Bhopal and Jaipur
M12d ARSI gL i yalazel (ael 3w sai 2dg 8 7
(A) uelals dal A-S (B) kedl du 2uyR
(C) oIy dal qvuisil (D) oluld dan 24YR

2 According to which scholar, there is a direct connection between the doctrine
of Protestantism and the development of capitalism ?

(A) Karl Manheim (B) Max Weber

(C) Emile Durkheim (D) Karl Marx

sul Rgieivl 1 302e2 gl Rugid 20 Hdlaied Qs a2 uua sy 8 7
(A)  sid Ay (B) AsA A6R

(C) SuSa golln (D) sid wsd

3 Who used the term "Greenhouse effect” for the first time ?
(A) 7. Forier (B) Devid Henry Thoro
(C) Richerd Saint Barb Baker (D) Baba Amte
Al s16Y 352 Aoexil AL uay Gualal 89 syl ¢dl ?
(A) %. sIRWR (B) 33 &l AR
(C©) Rl Az ouel A5 (D) ol N2

4 When was the First International conference organized in India for the
Environment education ?

(A) Delhi - December - 1981 (B) Ahemdabad - March - 1985
(C) Jaipur - November - 1975 (D) Kolkata - January - 1972
oMl walazel vy u Al uan vidudly wRae s Qo edl ?
(A) [Redl - RAR - 1981 (B) Mstate - Wi - 1985

(C) YR - R - 1975 (D) sastl - A-yaudl - 1972

5 Who is the first person to mention the jajmani system ?

(A) Oscar Lewis (B) A. R. Desai

(C) William Wiser (D) Radcliffe Brown
ogogi=l il AduYH Gedr A sl ?

(A) sk Al (B) 2. 3. 2w
(C©) [Alayy ada (D) lsus e
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6  Which city of Gujarat is known as "Solar City" ?

(A) Jamnagar (B) Surat

(C) Ahmedabad (D) Bhavnagar
dorudei sul udA Al R a3 il 2ud & ?
(A)  undR (B) yd

(C) uselale (D) suaR

7 - Which one of the following is used in all scientific researches ?

(A) Observation (B) Schedule

(C) Questionnaire (D) Census Survey
A-uidfl 8 AR Ay s AuAul Qugd 8 ?

A) Faa (B) gyl

(C) uz-iadl (D) A~y Audaw

8 Who introduced the concept of "Rural Communalism" ?

(A) M. K. Gandhi (B) Radhakamal Mukherjee
(C) M. N. Srinivasan (D) Syamacharan Dubey
“apfler Ayetdale’~ Bednl 519 Yadd s3 edl ?

(A) . 3. aidl (B) AdSHE HuD

(©) 2. A, M- (D) 241U g4

9 The main cause of honor killing is......

(A) A sense of fear (B) A sense of humiliation
(C) Sense of opposition (D) All of them

AR lR{oLd Yoy sraL 8. ..

(A) el euasil (B)  yxin-l oua-

(C) [l enax D) ey

10 Who among the following has suggested a threefold division of the agricultural
population into Malik, Kissan and Mazdoor :

(A) Daniel Thorner (B) D. N. Dhanagre

(C) K. Gough (D) Anmitai Etzioni

(Aol S8 gus arddld Bradla [aeuy--ilis, B via 19R%1 s Y-t
Y7

(A) IRua 4+ (B) 4. 2. u-d

(C) 3. ols (D) AR Sl
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11  The movement of the people from central cities to smaller communities in
the surrounding area is known as :

(A) Sub-urbanisation (B) Over-urbanisation

(C) Rurbanisation (D) Under-urbanisation

il AL Hadl Rl suadRAl RarHl et ayerd drsdl ki
oy 8 ¢

(A)  Gu--IRlsw (B) wilt-<a1dls1

(C) WEAUSIU D) vey-usds

12 Which of the following is the central focus of sociological study ?

(A) Social problems (B) Social work

(C) Social relations (D) Social development
ugely viewre NA-umidl 53 3w g 8 7

(A)  Aulss AU (B) aulys s

(C)  Alrs oiy) (D) Aulys (s

13 Who is known as the founder of Ethnomethodology ?

(A) Harold Garfinkel (B) Gramsci
(C) Levi Strauss (D) Spencer
NN AW viRAIUS dS S8 vy § 7
(A) Su RIS (B) Al
(C) adl 3R (D) A-AR
14  Which of the following sociologists gave the AGIL paradigm of functional
theory ?
(A) Karl Marx (B) Parsons
(C) Merton (D) Spencer
siulcs Rigia-l AGIL Qa1 AA-niell su wuoaro{lsl 2l 8 ?
(A) sid Asa (B) uwRl=
(C) e+ (D) A=A

15 The exchange of goods and services in simple societies is usually regulated

by the....
(A) Social legislation (B) Calculation of Profit and Loss
(C) Rights and Obligations (D) Authority

ALEL AL e i At [l e ..
(A)  AURs stlseiefl iy . (B) -si-vilesdl il wy 8.
(C) 51 2 s3] u 8. (D) uxlell an 8.
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16

17

18

19

20

Caste can be classified as....

(A) Secondary group (B) Religious group
(C) Ethnic group (D) Endogamous group
sl aollgd 9 asiu 8.

(A) gradl guui (B) uills gami

(C) dallu gami (D) viddow uan yuui

"Media is a tool through which society is educated".
Whose statement is this ?

(A) R. K. Majumdar (B) Edward Said
(C) Rashmi Bohra (D) Habermas
ColRuUL Bl A B, Fl gL A Rilid ad)l €1y 8.7
L S R 8 ?

(A) R, 3. HYPUER (B) 2i3ad A3
(C) Uy et (D) &M

Which of the following is not a feature of culture ?

(A) Learned behaviour (B) Collective ideal
(C) Continuous process (D) Reciprocal business
il 56 sueid Agladl dndr el ?

(A) dhal Hasir (B) uy[es ued

(©)  ddd wadl uBa (D)  MRRU AIUIR

What according to Marx is the basis of capitalism ?

(A) Large scale production (B) Money and credit
(C) Private property (D) Pursuit of profit
Wsunil dd Yfaie-dl U s49) 8 7

(A) W2 w2 Gelest (B) -lieli @i v

(©) vl Ak (D) sl U2 YAt

Which factor hinders social mobility ?

(A) Rapid urbanization (B) Natural calamities
(C) Cultural contacts (D) Superstitious
AULrs Alaelladid ~naus uRom s © 7

(A) w3l w5 (B) gedl vhsdl

(C) uirglas Aus (D) »lassl
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22

23

24

25

Which is not a characteristic of totem ?

(A) To be related to members of the tribe
(B) A sense of unity among the tribal group
(C) To protect the social group

(D) Observance of the rule of endogamy
dans 20 azet <l : :

(A) 2156l el AR il €ig

(B) 2156ia Aysul Asdirl AR

(C)  uulyrs uyed A@w

(D) id@ad]l FHyHd wWRuax

What has influenced the Indian culture in the present time ?

(A) Rules (B) Western civilization and culture
(C) Civilization (D) Modernization

adai AL el Arglanl Wl wetd yRl 8 ?

A) Raal- (B) uBul ucudl wA gl

(C) sglasardl (D) 2uyMAseid

What is the social though about the media ?

(A) Positive (B) Negative

(C) Balanced (D) All of the given are not correct
LRAA @S arulss AR 30 & 7

(A)  USRIHS (B) -iSRRAHS

(C) gl (D) e dud AR Al

Who founded the truth seeking society ?
(A) Ramakrishna Paramahansa (B) Swami Vivekananda

(C) Jyotiba Phule (D) M. K. Gandhi
AAYSs Al AL A8 s3 edl ?

(A) WAERL UMY (B) :apil as-e
(C) ool s (D) 4. 3. Al

From the following which one is NOT the indicator of Human Development
Index ?

(A) Improvement in quality of life (B) Gender Equality

(C) Widow remarriage (D) Scientific direction
(AAmidl 3 nda fsn yas e ?

(A)  @ast-l eiadiHl YR (B) [aL il

(C) [udal y-: ad« (D) Asuls Rl
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26 In India, the path of development is based on what ?
(A) Gandhian model (B) State enterprises
(C) Private and State enterprises (D) Private enterprise
Gl (s el At 2wl 8 ?
(A) adladl e (B) A% A-2u15R
(C) U2l i A% A2UUEH (D) vu=ll Aty

27  Who analyzed cultural differences ?

(A) Nadel (B) Lévi-Strauss
(C) Radcliffe Brown (D) Parsons
AiRglas [@ldard [save S8l 55 7

(A) -Ra (B) ddl-ga
(C) wlss suB (D) il

28 Who is the author of the book 'Peasant Society and Culture' ?

(A) M. Mead (B) R. H. Loi
(C©) A.R. Desai (D) Robert Redfield
‘U3 AMY 27 gl Yads Auis He D ?

(A) ¥u. {3 (B) R, . €1
(C©) 2. 2qR. A (D) Aete Wk

29 On what does symbolic interactionism focus on ?
(A) Ego Behavioral change (B) Macro - level social change
(C) Meso - level social change (D) Social change on a small scale
Alnelllkis SesuFHod Al uR 2 3=d 53 8 ?
(A)  dsiR adgsui wRad- (B) %3l - dqd arulss wRkad-
(C) %20 - daa wuls wRad+ (D) vt WA AR5 uRadA

30 According to Max Muller which one is the ancient form of religion ?

(A) Animism (B) Monotony

(C) Naturalism (D) Fetishism (witchcraft)
A5y Y-l Hd vl will- a3y 54 8 ?

(A)  ARBos (B) sla-u

(©) uslisals D) FARu (g - i)
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31 Who studied the gift and exchange system of sociological perspective ?

(A) Prof. Jevens (B) B. Melinowski

(C) T. Parsons (D) Levi Strauss
sy dfRARl Az N [MHY il e 89 sal ?
(A) M. FaA~A B) el Adi-lazsl

(C©) 4. uxl= (D) adl R

32 Who is the current Secretary General of the United Nations ?

(A) Ben Ki Moon (B) Antonio Guterres
(C) U. Thant (D) Kofi Anan

AYSA AR As-l sl Aded ke a8 8 ?

(A) A- 4l 3 (B) =AMl 9w
(C) 3= (D) A8l w-in

33  Who has reasoned that the family is a factory that produces human beings ?

(A) T. Parsons (B) Morgan

(C) Kingsley Davies (D) Mclver and Page

Bl A S8 0l B 3 g30L NS sl O F i AlF Gewtet 53 O 7
(A) 2. url= (B) ol

(C©) DBord (D) Asidaz 2 4o

34 Who is the author of the book 'Kinship Organization in India' ?

(A) Irawati Karve (B) I P. Desai

(C) Leela Dube (D) K. M. Kapadia
Billu 2D0AUSHaA S SERUL Yadsell Quis SoL 8 7

(A) Suadl sd (B) s, . s

(C) dlan g4 D) ¥. 2. suBa

35 Who is the author of the book "Magic, Science and Religion and other

Essays" ?

(A) . Frazer (B) Redcliff Brown
(C) A. B. Tailor (D) B. Malinowski
Y5, A - Nellovy os-l duis e 8 ?

(A) %. 3R (B) usdls suGq
(C) A oll. 2ar (D) ofl. A4
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37

38

39

40

Who determines the goal and means of a social movement ?
(A) Development (B) Thought

(C) Effort (D) Organization
AMPrs lidldry qay i A S gl RalRd 24 8 7

(A) s B) Rar

©) 3um (D) o+

The technique through which an investigator collects information by
participating in active life of the members of the group under study is known

as -

(A) Simple Observation (B) Non-participant Observation
(C) Participant Observation (D) Controlled Observation

AR YA AU ABY a3l cudL af Aus R AsBid 52 A wyls
laviy & -

(A) wa e (B) [Rinuseus(l Hlawet

(C)  usewsfl Maw (D) B FHlaw

The most significant problem in Social Science Research is associated with....
(A) Non-availability of data (B) Conclusion

(C) Objectivity of the Researcher (D) Predictability

AlBss [anni dlanni usaldl Aol secayst asza. ...

(A) sl ura L adl (B) drel

(C) *lusl argaallal D) yd eudldt

What is common between Marx and Durkheim ?

(A) Economic determinism and theories of change

(B) Technological and Phenomenological approach
(C) Methodological holism and deterministic approach
(D) Functionalism

s 2 gullHul g A3t S 7

(A) 2Bl Melusdle 217 wWRad--l Rugia

(B) ds{lsl uA Brlinlelosa oy

(C) usltwolly giellry x4 Felas w1

D) ustdae

From the following which feature is necessary for a primary group ?

(A) Face to face relation (B) Residence at one place
(C) We-feeling (D) Long-term relation
(Anidl 54 aam wabs ga w2 w1k sa@s 8 ?

(A) HalL Hle-l 2ieiy (B) s ¥ w4 U [Haw
(C)  2uuew veu-l sasl (D) aiou suourit isit)
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41

42

43

44

45

Which of the following scholars advocated free market and mercantile
economy ?

(A) Adam Smith (B) Herbert Spencer

(C) Karl Marx (D) Prof. Blume
LAl sui R 4sd oo dul Quir sdaaruid wudd s od ?
(A) A3 Raa (B) ol -z

(C) sid s (D) M. ogH

In standardized interview :

(A) Questions are decided after the interview

(B) Same wording is used for all the respondents

(C) Interviewer has complete freedom to reword the question
(D) Interviewer can introduce new questions in the special case
Aud yeusiani :

(A)  Haisid sle Aeedl «ssl s 20d 8.

(B) &l % GuiReldizdl Hi2 AL Aeel)l Gualal sl »ud 8.

(C) Halsid AR ACALAL 32812 12 Yol Ysddl U B,

(D) wu BRuA Yaisid AR al 4l 633l ad 8.

The sampling procedure in which each unit in a define population has an
equal chance of being chosen, and the selection of any one unit has no effect
on the selection of any other is called.....

(A) Purposive sampling (B) Random sampling

(C) Stratified sampling (D) Casual sampling

Fedall ¥ uglt 850 <158l s2et Acll-l UAs Rs uaie WAl ¥l ds 8l
8 A e s S5 urlL sy ofle Al uAeollA AR 53¢ Al ...

(A)  &qyel Medq (B) uzx [Medq

(C) =ailojd Med+t (D) uwilis Hedq

Which of the following is the definition of Gandhian state ?
(A) Religion (B) Republic

(C) Cooperative Decentralization (D) Swaraj

QAniel ol oAl v 56 S 7

(A)  udd= (B) udat

(©) ussdl R3-dlsw (D) WU

The study which specifically focused on the use of human and personal
documents is.....

(A) The police peasant in Europe and America

(B) The unadjusted Girl

(C) The pilgrims of Russian town

(D) The Gang

WAl A AalEdotd el Gualol M2 ¥ AR v R 8 8 d...
(A) 4 DR Wiz S 3Au A3 ARSL

(B) Hl wriwigRes Ad

(C) I Puaalls »iis Adiy 216+

(D) 4l
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46  Which of the following tribe provides a good example of pastoral economy ?

(A) Gond (B) Korba

(C) Toda (D) Santhal

AA-nnisll 55 ool uguas vedeiarang Gau Geleet yi ul 8 ?
(A) ol (B) SReu

(C) aa (D) due

47  Culture denotes....
(A) Observable behavior
(B) Man made part of environment
(C) Glorified heritage of a given section of society
(D) Style of decent living
Al vled. ...
A) RAae ad-
(B)  Hina ARFd Aldlael-l 6L
(C) AL S AYS~L ARALL 4ol
(D) R oad ughi

48 Which Country is most affected by Acid rain ?

(A) Brazil (B) Norway
(C©) USA. (D) France
[Riaui Aefl ay s auldl ueulid 2o s & ?

(A) subra (B) «\q

(C) 3R (D) s

49 A caste enjoying numerically, economically and politically powerful position
in a given region is conceptualized by M. N. Srinivas as.....
(A) Powerful caste (B) Dominant caste
(C) Higher caste (D) Ritually superior caste
¥ ult Aval, s wA uwdly A ¥ A udedi a2lka o @i R 8 Al
AHZAA W12 AN, Aot R v RonauHdl Gualo sl 8. w0 Readtd. ...

(A) vl sula B) ueudl ki
(©) G Al (D) sisisl el aRudl sl
30 Indian castes was classified into how many categories by Herbert Risley ?
(A) 6 parts (B) 8 parts
(C) 7 parts (D) 9 parts
solé Qundal eudlu wlaily Jear cuowi aollsel 53¢ & ?
(A) 6 e (B) 8 aual
©) 7 (D) 9 sua
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